86 4 82
4.1 55 27
4.1
B 37 C 43 B
2 B 38.6 C
50.9 4.2 B C
4.3
57 25
65 17
4.4
4.1
() +
55 45.3+12.9
P 44.6+14.1
82 45.1+13.2
t-test P-value=0.810
4.2
{ ) +
B 37 38.6+13.2
C 43 50.9+10.8
80 45.2+13.4
t-test
P-value<0.05
B 38.6 C

50.9
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4.3

B
24 29 53
13 14 27
37 43 80
Pearson chi=0.059
Pr=0.808
P-value=0.808
4.4
44.6+13.5 46.8+12.6
45.3+12.6 44.6+14.9
p-value>0.05
t-test p-value
0.836 0.554
t-test p-value

0.976 0.554
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(Odd Ratio) 3.445 Odd Ratio 1( 4.5)
( )

4.5
9 16 25
8 49 57
17 65 82
Odd Ratio=3.445
0 1
B C
Odd Ratio=1.77 log(Odd Ratio)
0 log(Odd Ratio) Odd
Ratio=0.56 log(Odd Ratio) 0 log(Odd Ratio)
Odd Ratio 0.56 2.1log(Odd
Ratio) 0 log(Odd Ratio)
B C
4.6



46 B C

B 14 23 6 31 18 19 8 29
C 11 32 11 32 27 16 5 38
Odd 1.77 0.56 0.56 2.1
Ratio
P-value=0.015
p-value 0.416 0.133 0.643
4.7
4.7

12 43 10 45 27 28 8 47
13 14 7 20 18 9 5 22

P-value 0.015 0.416 0.133 0.643




(

McNemar
0.05( 4.8)
P 0.523(
4.8
23 22 45
2 35 37
25 57 82
4.9
4 9 13
13 56 69
17 65 82

P

4.9)



